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Find The Errors Question IBPS Clerk Pre and SBI Clerk 

Pre 

Find the Errors Quiz 17 

Directions: In the following question, some part of the sentence may have errors. 

Find out which part of the sentence has an error and select the appropriate 

option. If a sentence is free from error, select 'No Error'. 

1. Imported items are costlier (A) / then their (B) / domestic (C) / 

counterparts. (D) / No error (E)  

A. Imported items are costlier 

B. then their 

C. domestic 

D. counterparts 

E. No error 

 

2. These reports have (A) / deterred some (B) / women to have (C) / 

the operation. (D) / No error (E) 

A. These reports have 

B. deterred some 

C. women to have 

D. the operation 

E. No error 

 



 

 

3. It will be more better (A) / if one of the parents (B) / stays at home 

(C) / to look after the children. (D) / No error (E)  

A. It will be more better 

B. if one of the parents 

C. stays at home 

D. to look after the children 

E. No error 

 

4. At my arrival (A) / in Delhi (B) / I went straight (C) / to the nearest 

hospital. (D) / No error (E) 

A. At my arrival 

B. in Delhi 

C. I went straight 

D. to the nearest hospital 

E. No error 

 

5. I don't understand (A) / how she could (B) / treat him (C) / so 

bad.(D) / No error (E) 

A. I don't understand 

B. how she could 

C. treat him 

D. so bad 

E. No error 



 

 

 

6. To improve its efficiency (A) / all income tax officers (B) / will be 

provide with (C) / laptop next year. (D) / No error (E) 

A. To improve its efficiency 

B. all income tax officers 

C. will be provide with 

D. laptop next year 

E. No error 

 

7. According to the survey (A) / more of forty per cent (B) / of Indians 

do not (C) / have access to banks. (D) / No error  (E) 

A. According to the survey 

B. more of fourty per cent 

C. of Indians do not 

D. have access to banks 

E. No error 

 

 

 

 

 



 

 

8. Instead criticizing (A) / why don't (B) / you help (C) / with the 

presentation. (D) / No error (E) 

A. Instead criticizing 

B. why don't 

C. you help 

D. with the presentation. 

E. No error 

 

9. During the flood (A) / Shilpa's colleagues (B) / prayed for (C) / her 

safety. (D) / No error (E) 

A. During the flood 

B. Shilpa's colleagues 

C. prayed for 

D. her safety. 

E. No error. 

 

10. He has invited one (A) / of his biggest business rivals (B) / to his 

office (C) / to discuss the merger. (D) / No error (E) 

A. He has invited one 

B. of his biggest business rivals 

C. to his office 

D. to discuss the merger. 

E. No error.  



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 
B C A A D C B A E E 

 

Explanations: 

1. 
In part B, use of the adverb 'then' is absurd in the context and it, hence, must be 

replaced with the preposition 'than' that is commonly used while comparing two or 

more things.  

Hence, option B is correct. 

  

2. 
In part C, 'to have' should be replaced with 'from having' as 'deter', which is a verb, is 

generally followed by the preposition 'from' which has to be followed by a gerund. 

The correct formation will be- "The reports have deterred some women to have the 

operation." 

Hence, option C is correct. 

  

3. 
In part A, the use of two comparatives 'more' and 'better' together is erroneous and 

hence 'more' can be replaced with 'much' to make it grammatically correct sentence. 

Hence, option A is correct. 

  

4. 

In part A, the preposition 'at' must be replaced with 'on' to make it a grammatically 

correct sentence. 

Hence, option A is correct. 

  

 

 



 

 

5. 
In part D, the adverb 'badly' must be used in place of the adjective 'bad' as an adverb 

is needed for the sentence to be grammatically correct.  

Hence, option D is correct. 

  

6. 
In part C, 'provide' must be replaced with 'provided' as the sentence is in passive 

voice and past participle of the verb is required for the sentence to be grammatically 

correct. 

Hence, option C is correct. 

  

7. 
Under the context, the phrase 'more of' must be replaced with the prepositional 

phrase 'more than', which means 'over', to make it a grammatically correct sentence.  

Hence, option B is correct. 

  

8. 
In part A, 'instead' must be replaced with prepositional phrase 'instead of' which 

means 'in place of'.  

Hence, option A is correct. 

  

9. 

The sentence is absolutely correct and thus has no error in it.  

Option E is hence the correct answer. 

  

10. 

The sentence is absolutely correct and thus has no error in it.  

Option E is hence the correct answer. 
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